

$$y = \cos(\omega t + \frac{\pi}{2}) + 4 \cdot \sin(\omega t - \frac{\pi}{3}) - 3 \cdot \cos(\omega t) \rightarrow \sin(\omega t + \frac{4\pi}{3}) = ?$$

P.S.

$$\sin(\omega t) = \cos(\omega t - \frac{\pi}{2})$$

$$\cos(\omega t) = \sin(\omega t + \frac{\pi}{2})$$

for $\omega = 2$

$$\cos(\omega t + \frac{\pi}{2}) + 4 \cdot \cos(\omega t - \frac{\pi}{3} - \frac{\pi}{2}) - 3 \cdot \cos(\omega t) + \cos(\omega t + \frac{4\pi}{3} - \frac{\pi}{2})$$

$$\cos(\omega t + \frac{\pi}{2}) + 4 \cos(\omega t - \frac{5\pi}{6}) - 3 \cdot \cos(\omega t) + \cos(\omega t + \frac{5\pi}{6})$$

$$e^{\frac{\pi}{2}j} + 4 e^{-\frac{5\pi}{6}j} - 3 e^{j \cdot 0} + e^{j \frac{5\pi}{6}}$$

$$j + 4 \cdot (-\frac{1}{2}j + \frac{\sqrt{3}}{2}) - 3 + (\frac{1}{2}j + \frac{\sqrt{3}}{2})$$

$$j + (-2j) + (-2\sqrt{3}) - 3 + \frac{1}{2}j - \frac{\sqrt{3}}{2}$$

$$z = -\frac{1}{2}j - 3 - \frac{5\sqrt{3}}{2}$$

matlab

$$\text{abs}(z) = 7.3472$$

$$\text{angle}(z) = -3.0735\pi$$

$$y_2 = 7.3472 \cos(\omega t + (-3.0735\pi))$$

for $\omega = 2$

```

MATLAB R2015b - academic use
HOME PLOTS APPS
New Script New Open Compare Import Data Save Workspace Clear Workspace
Analyze Code Run and Time Clear Commands
Simulink Library ENVIRONMENT RESOURCES
Search Documentation
/Users/mey/Documents/MATLAB
New to MATLAB? See resources for Getting Started.
>>
>> t=1:1:10;
>> y=cos(2*t+pi/2)+4*sin(2*t-pi/3)-3*cos(2*t)+sin(2*t+4*pi/3);
>> plot(t,y)
>> y2=7.3472*cos(2*t-3.0735);
>> hold on
>> plot(t,y2,'o')
fx >>
  
```

